Progression through Calculations

Shall I use a
Do I need pencil and
jottings ? ape method?
°O(){ Do I need to
use a
calculator?

N

Can I do
it in my
head?
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Addition -z

Expanded Column Method

Partitioning

300 + 200 = 500 H T U
40 + 70 = 110 3 4 1
1+6=7 + 2 7 6
=
500+ 110+ 7 =617 1 1 0
Compact Column Method 0 0 O
6 1 7

H T U A

3 4 1
+ 2 7 6
6 1 7




Subtraction

Subtraction using a Number Line

Counting Back: 78 - 12 = 66
-10

PN

66 68 /8

Counting on: 74 - 57 = 17 (10 + 3 + 4)

/\t;/t“\

57 67 70 74




Subtraction

Column Method without 'Nicking’

H T U
3 4 6
- 2 2 1
1 2 5

Compact Column Method: ‘Nicking

and Sticking'

H T U

3 7 ,6/ 15
- 2 7 6




Multiplication

Multiplying by 10 or 100

Using an array

O000 4x3 =12

8888 4 rows of 3=12

OO0
3x4 =12 OO0

Th| H| T | U

43

3|0

Thi H| T | U

%%y

7100

3 4=12 QOO0
rows of 500 /

W> Repeated addition using a C
number line

4 x3 (4 jumps of 3)
+3 +3 +3 +3

L NN NN

0 3 6 9 12

The 6rid Method!
24 x 3

20 | 4

60 | 12 60+12:7_2




Division

Division as sharing
15+5
15 shared between 5
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Division as grouping
8 =2

Division on a number line
8 +2

4 jumps
of 2 to

+ 2 + 2 + 2 + 2
LN/ maked
0 8




Division using a number line

56 +5
10 jumps of 5

NN

[\

1 jump of 5

emainder 1

50 55

56

11 jumps of 5, 1
remaining.

Answer=11r1




